
Electric / Gasoline Vehicle BODY AND ASSOCIATED PARTS 

EZECIti_uLkILI Service Parts Manual Page D-4 



BODY AND ASSOCIATED PARTS Electric / Gasoline Vehicle 

THE USE OF NON UL PARTS WILL VOID ANY UL LISTING. 
When ordering parts, please specify the model and serial number of the product. 
* Indicates a component that is not available as an individual part. 
G** Indicates consult Customer Service Department for additional information. 

ITEM PART NO. 1 2 3 4 5 DESCRIPTION QTY. 

91 14601-G10 RIVET, 5/32 X 7/16 LG   5 

92 16816-G2 RATCHET FASTEN ER   4 

93 

94 71003-G03 SPEED NUT, #8   4 

95 71004-G01 SCREW, #8 X 3/8 LG   4 

96 11027-G3 NUT, LOCK, 10 - 24  . 3 

97 

98 70245-G01 BATTERY TRAY (GASOLINE VEHICLE)   1 

99 00715-G2 BOLT, 5/16 - 18 X 13/16 LG.   4 

100 

101 23676-G1 DECAL, FREEDOM  . AR 

102 27504-G01 DECAL, FREEDOM HP  . AR 

103 75178-G01 DECAL, 4 CADDY  . AR 

104 73162-G01 DECAL, DCS  . AR 

105 

106 70048-G02 FLOORMAT (FREEDOM ONLY)   1 

107 70048-G01 FLOORMAT  . 1 

108 23850-G1 SILL PLATE, ROCKER PANEL, PASSENGER SIDE  . 1 

109 23850-G2 SILL PLATE, ROCKER PANEL, DRIVER'S SIDE  . 1 

110 

111 16705-G1 SCREW, STAINLESS STEEL, 1/4 - 20 X 1 LG  . 4 

112 23726-G4 SPACER  . 4 

113 00891-G2 NUT, LOCK, 1/4 - 20   4 

114 71501-G01 ROCKER PANEL, PASSENGER SIDE  . 1 

115 71502-G01 ROCKER PANEL, DRIVER'S SIDE  1 

116 

117 

118 71379-G** SEATWRAP (DCS MODEL ONLY)   1 

119 71361-G** SEATWRAP   1 

120 70317-G01 SEAT FRAME (GASOLINE VEHICLE)  1 

Page D-9 Service Parts Manual 

  

EZECI TEXTRON 


